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o2 -4 AD //PQ//BC & W, x +y o] 3t2?

6:3=8:x
x=4
6:9=y:12
y=2_8
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3. TS 199 nABCD o] AD//EF//BC, AE: EB = 2 : 3 0] 1L,
AD = 6em , BC = 15cm 9 o, PQ 9] Zo]=?
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> = cm
» E cm
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1

A P,Q7t 22 DB, DC 9 40122 PQ = ;BC = jx12=
6(cm)
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9. o 1%9] aABC oA AD = CD, BE =
17em? & i, ABCD 9] §ol& vr27] 72t 2

A
D
1D
B C
@ 30cm? @ 31cm? @ 32cm?
@ 33cm? ®)34cm?

AABE = AAED = 17(cm2) o]31 AABD = ABCD o|BR =2
ABCD = 34 cm? ©]tt},
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th= 18 9] bABCD ©ll4] AD, BC, BD 9| $4& 2
&, /EGF 9] 27]=?

O 110° @ 120° @130° @ 140°

~&B

® 150°

AZ@ Y FHAAZA e Q|

(DGE = /DBA = 30°°|1!

/BGF = /BDC = 80°°]| 2. &

/DGF = 180° — 80° = 100° ©|t}. wra}A]

(EGF = /EGD + /DGZ = 30° + 100° = 130°©|t}.
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44 5=18(cm)

thS 1383} 28 gABCD & HaPAHFoltt, AC = 8cm , BD =
10cm ©]|2, AB, BC, CD, DA o &85 ZZtE, F, G, H &
o, oEFGH 9] 9] Zdo]=?
@ 16cm @186111 ® 20cm @ 22cm ® 24cm

— 1— 1

— 1— 1
.. (DEFGHS] €8] 4°]) =EF+FG+GH+HE =4+5+



12. 1% I9Ho)A4 A D,EE BC 9] 4F52%0]1 BF &= AABC 9] &
Aot} AABD = 18cm? € W], AABF 2] Ho]&?
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@ 18cm? @)27cm? @ 30cm?

@ 36cm? ® 54cm?

A F 7FAC 9 4-o|m2 AABF = ABCF = %AABC
T A D,E+=BC o 45EHo|22 AABD = %AABC
AABC = 3AABD = 3 x 18 = 54 (cm?)

1 1
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15. o2 2994 AM = PM, BP = PQ = QC °]3l AABC = 54cm?
¢ o, oMPQR 9] §o|E vt et 227

® 6cm? @ 8cm? @ 10cm?

®)12cm? ® 1l4cm?

; X 54 = 36(cm?)
H R2 AAPC 9] FAIFA I
X 36 = 12(cm?)

AAPC = gAABC =

oMPQR = %AAPC = %




16. o2 2984 H G,G" 2 ZtZ AABC, aGBC 9] FAFA ot
AGBG =5cm? 4 o,
AABC 9] Hlo]=?

A
G
G ~
B D C
@ 30cm? @ 35cm? @ 40cm?
@®)45 cm? ® 50cm?

AGBC = 3AGBG’ = 3 x5 = 15(cm?)
AABC = 3AGBC = 3 x 15 = 45( cm?)
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CM o|E& A P = AABC 9] A ZAlo|t}. PO p

1
~ 3
%X4z2(cm) °]B2 BO = BP + PO =4 + 2 = 6(cm) ©|t}.

w2k BO = DO ©]2 2 BD = 2BO = 2 x 6 = 12(cm) ©]t}.




18. & 131_\,]. Z-o g3iAAS ABCD o4 BC, CD ¢ 4L Z+zt
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19. e 282 % 0 7F F49 Al €™ OA = AB = BC ©|t}. o] o,
A REP,Q,R 2 Hole Hl=?

@D 1:2:3 @ 1:4:6 ® 1:4:9

Al 9o B3HlE1:2:30/88 Wolo H=1:4:9 °Jth,
T2t P:Q:R=1:(4-1):(9-4)=1:3:5°|ch




20. Hol7l 100em? 9 2HFS 70% 4 BAjstE 1

Zeje] Wol otofel. (2, Bl ekt

Ct -
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[ 2
> HE: 49cm?

B

ol g yold Hl=
10% : 72 =100 : 49 o]t}.
e Z4 BARE 2] 5 9] Yol 49¢m? o]th,

2T 4 BAME 2] §3H]= 100 : 70 = 10 : 7
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=

Wl N

th& 1Yyt Zro] HAHA A - BCD o] ZF B A g]e] Ao|=
Z0o] 2F2 AAMHA E - BFG & THEQITH AAMFHA A - BCD 9

Zy0]7} 90cm? & W, AAPHA E - BFG 2] Z2Yol= dupel7|?

D)40cm? @ 50cm? ® 60cm?

@ 70cm? ® 80cm?

B

BAEA A - BCD ¢ AAMAA E - BFG 9] 24713 : 2
o|BE o] Hl=9: 4 o5

) 4
- (BAFHA E - BFG 9] 2% °])=90 x 5= 40(cm?)
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H =

>
> ®eh: 36cm?

B

29| Folet A9 £olo H7L5: 20| B =
I1%0] Hujot 50] Hulo] Hl=52:22 =25:4
kA 225 : (29 F1]) = 25 : 4914

(&9] F1]) = 36( cm?)




@ 277 cm?® @ 361 cm® ® 457 cm?®
0547r cm? ® 1507 cm?®

~&B \

ES A 9B dA &8 F3H]E=3:5
Hijo] H|:= 33. 53 = 27: 1259|T},

} 2
SLHES A =0 ] =250 x 2T 54n(cm?)
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@ 2m

Hir

g =

-~

Bl

@ 2.1m

st
Aol 2937} 2m 7
—4 IHAE=4m ¥
=01 40 cm 7HA] A3 Z T
}. O] g 9] =ol= duiel
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® 22m

@ 2.3m @2.4m




. AB

94

AB :DC=BE :CE
AB : 84 =2100 : 56
AB : 84=175: 2

AB = 3150(cm) = 31.5(m)




